Finding the hypotenuse (A01) Finding the shorter sides(A01) 2 steps questions (A01)

Review and Feedback

Q]_) Find z (2dp):

Oem
)

CHG

12em

You can find the hypotenuse. (A01)




Q5 (A02) Q6, Q7 (A03) Q8 surds (A03)

Name:

CHG
QZ) Find x to the nearest cm:

23cm

6cm

You can find the shorter side (AO01)




Q3) Find the area of this triangle

11lem

6cm

You can do 2 steps Pythagoras problem.(AO01)




Q4) Find perimeter of this triangle

12em

cm

You can do 2 steps Pythagoras problem. (AO1)




QS) Here are lengths of sides of four triangles.
Which triangle is right-angled?

Bem, 12cm, 17cm
1lem, 11cm, 18cm

Bbcm, 6cm, 7cm

2lcm, 28cm, 35cm

You can do reasoning problem (A02).




Q6) Calculate the distance between A and B.
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You can solve more complex problem.



The diagram shows a rectangle made of wire. Find the total
Q7) length of wire used to make the shape (including the
diagonal) to 2 decimal places.

20cm

11cm

You can do problem solving question (A03).




QS Calculate the length of side p.
Leave your answer in surd form.

G V8

You can solve problem with surds.

‘eacher’s comment
ATL Grade:



Finding the hypotenuse (A01) Finding the shorter sides(A01) 2 steps questions (A01)

Review and Feedback _
) ) ) CHG
Q]_) Find 2 (2dp): A +tb =c¢
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X =225

You can find the hypotenuse. (A01) B




Q5 (A02) Q6, Q7 (A03) Q8 surds (A03) N a m e:
ANSWER
CHG
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Q2) Findmtothe@ i4b =cC
2 z “
x + b 725
23cm 2
¥ t3L = 527
(-36)  (-36)
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x = EZq' 5é
6cm x "= 497
X = ) 493 92Cm

You can find the shorter side (A01) X: 92, 2¢Cmf _—




Q3) Find thf this triangle ANSWER
) I a2+ b = C
L Kot s
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You can do 2 steps Pythagoras problem. (AO1) AL
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. . ANSWER
Q4) Find perimeter of this triangle 0&5 - C
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x 1P t35 =X
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; e +12,25 =X
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You can do 2 steps Pythagoras problem. (AO1) —




ANSWER
QS) Here are lengths of sides of four triangles.

Which triangle is right-angled? The [D%lst side must be
@ 5cm. 12em, 17em st £ T hyptisc. Thiefe C

2 92 2 2 2 2
0 11em, 11cm, 18em (| +0 #/ Atb =C

2 2 2
O 5cm, 6cm, 7cm 5 +6 £ 71

/o 21cm, 28cm, _3__5_C_|1_'\_ : 217’+ ?/92—= %SQ—W

L4 | + 70QL{/ 2125
(226 = (225
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You can do reasoning problem (A02).




ANSWER
Q6) Calculate the distance between A and B.
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You can solve more complex problem.



The diagram shows a rectangle made of wire. Find the ANSWER

Q7) length of wire used to make the shape (includim .
diagonal) to 2 decimal places. az-(- b :=cC
| (Cm ;cz-(-llz=201
6.7 > =400 - 12
%" 279
11cm Y - (é, 7
Al wive used® 11+ 1 +16.7+16.7+ 20

= 75,4 em

You can do problem solving question (A03).




ANSWER

Calculate the length of side p. 2 L z
QS) Leave your answer in surd form. A+tb =(C
2 v =
) +() -
2
bt+d = p
7
p (4 :F

You can solve problem with surds.
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ATL Grade:



